radius
apothem
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#5 Theradiusof a reqular hexagon 1s 2.
Find: a. The length of one side @

b. The apothem |8
A= '3(6‘6)(72) - -

= iz\bﬁ ]

Find the area of ane u,ilql;eml L—riar_\ le
o wmm rodius of its |:?sonloed circle i€ 3,

c. Thearea

#\ Find the area of a reqular he_xagan if +he

radius of s inscnée cirele G2
A = 'iaP 3 6
= .lz_uz)(%(?) x =3

=\28%5| G

of radius 12 1S arcmsma»ed about each regu»lwr
below- Find +he area of each polyqon.

b ‘ c.

Q. { /
i H x(z=12 ‘\ o

A= LO(363) A< LeB)UER) x=0C A= LaP
iG] : - .;.(eﬁ)(n)

=E‘Z = (486—)
= | 36 = i2|b(3'

= 144(2)

s A arcle
polygon

<




Flb A crcle s nscribed in one reqular hexagon and
circumscrised about another. If’ the circle has a radius
of b, find the raho of +he area of the Smaller hexagon
+o the area of the larger hexagon

Larg
= 72(3
Asmal = ?'(96)(36)
= 543

B

#19 a. The span s of a reqular hexagon 'S 30
Find the hexagon's area  y(5=15 G \
A= %(.g)(bo(a) 3 GG

(A= 450(3 x=56

b. Find +he span of a reqular hexagon
with an area of 3263 I




#20
a. Find the a
pothem of th
ereq uloar octngon

armemzm or L@_é

areaz '?(SH;(z.) (80) tanb15=L
- 4o(5+5{2) V=
‘\100+2oo(zj_[

#22




